
 

 

WEEK TEST V – MENTAL ABILITY EXPLANATION 
 

61. Ram can do a work in 15 day. Rahim is 50% more efficient than Ram. The 
number of days, Rahim will take to do the same piece of work is 
a. 7½  b. 10  c. 12     d. 14  e. Answer not known 
uhk; vd;gth; xU Ntiyia 15 ehl;fspy; Kbf;fpwhh;. u`Pk; vd;gth; uhik tpl 
50% tpiuthf Kbg;ghh; vdpy;> u`Pk; kl;Lk; jdpahf mNj Ntiyia vj;jid 
ehl;fspy; Kbg;ghh;? 
a. 7½   b. 10  c. 12  d. 14  e. tpilnjhpatpy;iy 

 
Explanation: 
 

Ratio of the efficiency = 150 : 100 = 3 : 2 
3 15

2

10

x

x

 

 

 

 
62. One number is seven times another. If their difference is 18, find the numbers. 

a. 3 & 21 b. 4 & 28 c. 7 & 23        d. 5 & 35 e. Answer not known 
Xh; vz; kw;Nwhh; vz;zpd; 7 klq;F MFk;. mtw;wpd; tpj;jpahrk; 18 vdpy;> 
mt;ntz;fisf; fhz;f 
a. 3 & 21 b. 4 & 28 c. 7 & 23        d. 5 & 35 e. tpilnjhpatpy;iy 

 
Explanation: 

 
Let the numbers be x & y 
Let x = 7y 
also, x – y = 18  
Substituting for x in the above 
We get 7y – y = 18 
∴ 6y = 18 

y = 
18

6
 = 3 

∴ x = 7y = 7 × 3 = 21 
The number are 3 & 21 

 
63. In a division sum the divisor is 12 times the quotient and 5 times the remainder, 

If the remainder is 24, then the dividend is 
a. 1224 b. 1242 c. 1222  d. 120 e. Answer not known 
xU tFgLk; vz;zpd; tFj;jpahdJ <itg;Nghy; 12 klq;F> kPjpiag; Nghy; 5 
klq;F cs;sJ. NkYk; kPjpahdJ 24 vdpy;> tFgLk; vz; 
a. 1224 b. 1242 c. 1222  d. 120 e. tpilnjhpatpy;iy 

 
Explanation: 
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64. 5 men can complete a work in 2 days, 4 women can complete the same work in 3 

days and 5 boys can do it in 3 days. 1 man, 1 woman and 1 boy, working 
together, can complete the work in: 
a. 6 days  b. 4 days c. 8 days  d. 12 days e. Answer not known 
xU Ntiyia 5 Mz;fs; 2 ehl;fspYk;> 4 ngz;fs; 3 ehl;fspYk;> 5 rpWth;fs; 
3 ehl;fspYk; nra;J Kbf;f KbAk;. 1 Mz;> 1 ngz; kw;Wk; 1 rpWtd; xd;whf 
Ntiy nra;tjd; %yk; vj;jid ehl;fspy; Ntiyia Kbf;f KbAk;. 
a. 6 ehl;fs;   b. 4 ehl;fs;   c. 8 ehl;fs; 
d. 12 ehl;fs;  e. tpilnjhpatpy;iy 
 
Explanation: 

 

1 Man can complete the work in 5 × 2 = 10 days. 

1 woman can complete the work in 4 × 3 = 12 days. 

1 boy can complete the work in 5 × 3 = 15 days. 
∴ 1 man, 1 woman and 1 boy, working together, can complete the work in 

 
 

65. Which one of the following is a prime number? 
a. 184  b. 171  c. 173          d. 221  e. Answer not known 
fPo;f;fz;ltw;wpy; vJ gfh vz;? 
a. 184  b. 171  c. 173    d. 221 e. tpilnjhpatpy;iy 
 
Explanation: 

 
184=23×8  
Therefore, cannot be prime 
171=19×9  
Therefore, cannot be prime 
221=17×13 

Therefore, cannot be prime 
Hence, by elimination we have 173 as a prime number 

 



 

 

 
66. A tank can be filled in 40 minutes but there is a leakage in it which can empty 

the full tank in 80 minutes. In how many minutes it can be filled? 
a. 40 minutes  b. 120  minutes  c. 80 minutes  
d. 60 minutes  e. Answer not known 
xU njhl;bia 40 epkplq;fspy; epug;gyhk; Mdhy; mjpy; Vw;gl;l frpT 80 
epkplq;fspy; KO njhl;biaAk; fhyp nra;JtpLk;> vdpy; vj;jid epkplq;fspy; 
me;j njhl;bia epug;g KbAk;? 
a. 40 epkplq;fs; b. 120 epkplq;fs;  c. 80 epkplq;fs; 
d. 60 epkplq;fs; e. tpilnjhpatpy;iy 
 
Explanation: 

 
1 1 1

40 80 80
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67. Maran and Chezhiyan contract to do a work together for Rs. 360. Maran can do 

it in 8 days and Chezhiyan alone in 12 days. But with the help of Aadhan they 
finish it in 4 days. Find the share of Aadhan? 
a. 60  b. 80    c. 120  d. 180   e. Answer not known 
khwDk; nropaDk; Nrh;e;J xU Ntiyia 360 &gha;f;F xg;ge;jk; nra;J 
nfhs;fpwhh;fs;. mt;Ntiyia khwd; 8 ehl;fspYk;> nropad; kl;Lk; 12 
ehl;fspYk; nra;a KbAk;. Mdhy; Mjdpd; cjtpAld; 4 ehl;fspy; Kbj;J 
tpLfpwhh;fs; vdpy; Mjdpd; gq;iff; fhz;f? 
a. 60  b. 80    c. 120  d. 180   e. tpilnjhpatpy;iy 
 
Explanation: 

 

Aadhan’s 4 days work  
1 1 1

1
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The ratio of their shares = 
1 1 1

: : 3: 2 :1
2 3 6

  

Aadhan’s share = 
1

360 60
6
   

 
68. 210 men working 12 hours a day can finish a job in 18 days. How many men are 

required to finish the same job in 20 days working 14 hours a day? 
a. 160  b. 162  c. 164  d. 169  e. Answer not known 
210 Mz;fs; ehnshd;Wf;F 12 kzp Neuk; Ntiy nra;J xU Ntiyia 18 
ehs;fspy; Kbg;gh;. mNj Ntiyia ehnshd;Wf;F 14 kzp Neuk; Ntiy nra;J 
20 ehl;fspy; Kbf;f vj;jid Mz;fs; Njit  
a. 160  b. 162  c. 164  d. 169 e. tpilnjhpatpy;iy 
 
Explanation: 
 



 

 

1 1 2 2

1 2

M D M D

W W

 
  

 
210 12 18 14 20

210 12 18

14 20

162

x

x

    

 






 

 

69. The next number in the series is 
2 3 4 5

, , , ,?
5 255 5 5

 

a. 
6

5 5
  b. 

6

25 5
  c. 

6

125
 d. 

7

25
  e. Answer not known 

2 3 4 5
, , , ,?
5 255 5 5

 vd;w njhlhpy; mLj;j vz; 

a. 
6

5 5
  b. 

6

25 5
  c. 

6

125
 d. 

7

25
   e. tpilnjhpatpy;iy 

 
Explanation: 

  

Denominator Multiplied by 5 . 
 
70. Sixty-Five percent of a number is 21 less than four fifths of that number. What is 

the number? 
a. 140  b. 150  c. 135         d. 120  e. Answer not known 
Xh; vz;zpd; mWgj;ije;J rjtPjk; me;j vz;zpd; Ie;jpy; ehd;F gq;fpy; 21 
FiwT vdpy; me;j vz;izf; fhz;f. 
a. 140  b. 150  c. 135     d. 120  e. tpilnjhpatpy;iy 

 
Explanation: 
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80 65

100

x x
= 21 

  15x = 2100 
  x = 140 

 
71. Two persons A and B are engaged in a work. A can do a piece of work in 12 

days and B can do the same work in 20 days. They work together for 3 days and 
then A goes away. In how many days will B finish the work? 
a. 4 days  b. 6 days      c. 8 days   
d. 12 days   e. Answer not known 



 

 

A xU Ntiyia 12 ehl;fspy; nra;J Kbg;ghh;. B mNj Ntiyia 20 
ehl;fspy; nra;J Kbg;ghh;. A, B ,UtUk; Nrh;e;J mt;Ntiyia 3 ehl;fs; 
nra;jdh;. gpd; A nrd;W tpl;lhh;. kPjp Ntiyia B vj;jid ehl;fspy; Kbg;ghh;? 
a. 4 ehl;fs;  b. 6 ehl;fs;     c. 8 ehl;fs;   
d. 12 ehl;fs;  e. tpilnjhpatpy;iy 
 
Explanation: 

 

Work done by A and B in 3 days = 
1 1 2

3
12 20 5

 
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Remaining work = 
3

5
 

Number of days taken by B to finish the remaining work = 
3

20
5
  

= 12 days. 
 
72. Find the odd man out in the following:  

2200, 2100, 2000, 1600, 1200, 700, 100  
a. 2000   b. 2100    c. 100    
d. 700    e. Answer not known 
gpd;tUk; vz;fs; njhlh;thpirapy; nghUe;jhj vz;izf; fhz;f. 
2200, 2100, 2000, 1600, 1200, 700, 100  
a. 2000   b. 2100    c. 100    
d. 700    e. tpilnjhpatpy;iy 
 
Explanation: 

 
2200 – 2100 = 100  
2100 – 1900 = 200  
1900 – 1600 = 300  
1600 – 1200 = 400  
1200 – 700 = 500  
700 – 100 = 600  
Correct Series is: 2200, 2100, 1900, 1600, 1200, 700, 100  

 Wrong number is 2000. 
 
73. Some sweets were to be distributed equally among 540 students of a school. But 

due to absence of 120 students, each child got 4 more sweets. How many sweets 
were to be distributed to each student originally?  
a. 12  b. 14  c. 16  d. 18  e. Answer not known 
xU  gs;spapy; cs;s 540 khzth;fSf;F ,dpg;Gfs; rkkhf gfph;e;jspf;fg;gl 
Ntz;Lk;. Mdhy; 120 khzth;fs; tpLg;G vLj;jjhy;> jw;Nghija 
vz;zpf;ifapy;  xt;nthU khztUf;Fk; 4 ,dpg;Gfs; mjpfkhf fpilj;jd 



 

 

vdpy; cz;ikahf  xt;nthU khztDf;Fk; fpilf;ff; $ba ,dpg;Gfs; 
vj;jid? 
a. 12  b. 14  c. 16  d. 18  e. tpilnjhpatpy;iy 
 
Explanation: 

 
Let originally each students gets  
No. of sweets = x  

540  x = (540 – 120)  (x+4)  

540x = 420  (x+4)  
9x = 7x + 28  
2x = 28  
x = 14 

 
74. A and B together can do a piece of work in 3 days. If A does thrice as much 

work as B in a given time, find, how long A alone would take to do the work? 
a. 4 days  b. 7 days   c. 9 days   
d. 12 days  e. Answer not known 
A kw;Wk; B ,ize;J xU Ntiyia 3 ehl;fspy; nra;Jtpl KbAk;. A xU 
Fwpg;gpl;l Neuj;jpy; B – I tpl %d;W klq;F mjpfkhf Ntiy nra;jhy;> A 
kl;Lk; me;j Ntiyiar; nra;a vt;tsT ehl;fs; MFk;. 
a. 4 days  b. 7 days   c. 9 days   
d. 12 days  e. tpilnjhpatpy;iy 
 
Explanation: 
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75. Which of the following numbers in divisible by 9? 

a. 7532458  b. 6812348    c. 6234588   
d. 4701828  e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s vz;fspy; 9My; tFgLk; vz; ahJ? 
a. 7532458  b. 6812348    c. 6234588   
d. 4701828  e. tpilnjhpatpy;iy 
 
Explanation: 
 

By the option (C) 
Sum of digits of number 6234588 
= 6 + 2 + 3 + 4 + 5 + 8 + 8 = 36 which is divisible by 9 

 


